LAEACRGER

Sf644H10H

7R
SR 6HE 1 FEEFERITHELARFT TEE
1. WADHE BT M
S ok — A i_fl 720 =
3 &l H anH
W4 B 20,000 X 240 = 4, 800, 000
I & 19, 200, 000 80, 000|144 (B528H) 30,000 X 240 = 7,200, 000
W4 (BE3H) 30,000 X 240 = 7,200, 000
Mo A 0 0
fthh 2 5t 4 A 4 0 0
& &t 19, 200, 000 80, 000
2. ZHDER A7 M
S ke gj\%/l 720 =
: ] . A
%4’ H T RLEE i o FJ'E H
HEFE~DIRE 0 0
fthh 2 31 4 1 4 0 0
LIRS 4 80,000 X 240 = 19, 200, 000
RAF JE k& 19, 200, 000 80, 000 \
— A T E RS RATEIT (2 4R CRNY)
& 3 19, 200, 000 80, 000




